EARAROBEEIERT — 2 N— IBISH —F

2015%7H 180 (£) 3EIF=5H

SR N

B [EE] S

‘ [Rfg] 2 ‘ [FEERR] — | Z (&) 1600M =

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— e\ oo o 2 | BERE :39. -4 . . ZHEET (ER)
: NELZAT TP 4 RS 1(3_9)7 4-4-3 |35.5|76.5 | 6 (438) z H.T:/I{/].{/\X .
LT RIA VL= B:TY4LTTIAF H—L— - TvIN> - Tp— LERE
B S # o2 | C. bx=Jb 1:39.7 2-3-3 |35.5|76.5 | 1 500 | FREFEE (ER)
2 4| F /L —H— 54.0 (7€) - | W) 5/992
REATAT v — B U—HLHH FHEHS
o N s o2 | EPR 1:39.8 5-4-5 |35.4| 75.7 | 3 430 |ABEBE (BR)
30711 NAHZ/NA—X 54.0 (7€) (=) FERE R
RRFAd—I K B:wNGr—2XT)2 T =]
S = = 4 2 | BEREMAETT 1:39.9 2-1-2  [36.0| 72.5 | 8 460 |/MBE (RR)
4|57 | TAY>T1 774 54.0 (1/2) (—) |FHEE
.47 KRT—IEY Biv—t> AW
NP Z. IS— k2 139, —4- . MIRHE (ER)
5 g TATT o2 o > 1(/739@9 5-4-5 |35.5| 74.6 | 2 (438) prs
RFA—TALNT N B eAZLIIFT— et e
i 4 2 | JIIEREHE 1:40.2 1-2-1 36.3| 68.6 | 11 442 | EHERL (BR)
6 5| 7U% 54.0 (1 3/4) —) | B EvILykFTr—L
R:F4—T2HhA B:RM)TLR ESizie ]
R o2 | AEEN 1:40.2 10-10-11 [35.3 | 72.0 | 12 | 458 |&t&5E (RR)
7 gl ¥r>Fe—+H 54.0 (NF) o) | ) /-zEenx
R:7T7v 724K B:579dyFR FIE
N = 4 o2 | MEEZ 1:40.3 12-10-10 [35.5| 70.7 | 4 | 464 |ETEBE (RR)
glgl13 ¥ TRV T 13 54.0 (3/4) o) | @ ¥5ILo k575707
R:F4—TRAA BN IH T AT LTHITp—L
. S o2 | dtRkR— 1:40.5 13-13-11 [ 35.5| 68.8 | 7 454 | BR (ER)
911 |7=RA2TTA4T 54.0 (1 1/4) ) smEh
LKLV v—=— BILHCNr=% BERS
s 2 | fEKH— 1:40.5 8-7-9 [35.8|68.5| 5 434 | THEEZ (EX)
10[7 (10| A2~ A PU—A 5.0 (7€) o) | @ EegHTy—g-x .2z
LA TATv— BURCINIAT EEte
¢ 5 o2 | BRR 1:40.6 8-7-7 [36.0| 67.1 | 10 | 506 |EFIEE (FF)
ilslglans7zsve 54.0 2E) ) |iR
R —NF2HYF— BANAFT57T 1REE HEA
> < 2 | RERAS 1:40.7 7-7-7 | 36.2] 653 | 9 438 | ZEHE (RR)
EE 2 SIVIN— A —)b ¥53.0 (3/4) (o) i‘lt—ﬁ]&&ﬁ
R:xA21=gr—Z B:YIN—a—X b BpEEUE e
o 4 2 | HALBLTF 1:40.9 10-12-11 [ 36.0 | 64.6 | 13 470 | A (ER)
13)8[12| 7 ~TANT—7 54.0 (1 174) o | T
L:O—-Y X124 B:Fravii— AH 1F
@ 71 L
) 48.7-35.8
NA>4a4 L |12.9-12.0-12.8-13.3-12.9-12.2-11.5-12 .1
@ 1—F—@&BIEf
12—7—
2ol=7r= (4,%5,7)3(9,11)2(6,10)-(8,12) 13,1
gI=7"= (5,%7)4(3,9,11) (2,6,10) (13,8) 12,1
40—7— (¥5,7) (3,4) (9,11) (2,6)10,13(8,12,1)
[ RN
B OB 3 2,000/ 714K 3-4 740M e & 3-4 2,470 &R 3-4-11 5,660
8 B 3 320M 3-11 2,050 B & 3-4 2,240/ 3B 3-4-11 43,090/
4 130M4 4-11 490M B H 3-4 6,050
1" 220M

ABICOVWTRDTEEERROODE. TR LIV,




